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                          E4 – 3 
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 ( + )             ( + )            ,  
      ( + )                 ( + )                 ,  

 
a)  

 
 = 1,15 = 1,0  

 
 

–  
 

 
 = 250, i = 300  
 

 
 
                                                           5 = 1,0 –

W
R
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1.  

=  
 

- -  
 = 1/200 
 = 2 = 24,0 = 1,0; 23 1,0 

   
 = 0,5 1 + 1 = 0,5 1 + 12 = 0,866 

   
 = 1200 1,0 0,866 = 0,00433 = 1230,947 

1.1.  

= = 1230,947 30 / 8,0 = 1,039  

1.2.  

= = 1230,947 20 / 8,0 = 0,693  

2. KOMBINACIJE DEJSTAVA 

2.1.  = 1,35          , = 1,50          , = 0,60 
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2.2. - GSN 

(C1.): ( + )          ( + )          ,  
 
 = + + ,  
 = 1,35 1,039 + 1,50 0,693 + 1,50 0,60 2,0  
 = 4,24  
 = + = 1,35 30 + 1,50 20  
 = 70,5 /  

2.3. -  

(C2.): ( + )          ( + )          ,  
 
 = + + , = 1,039 + 0,693 + 0,60 2,0 = 2,93  
 = + = 30 / + 20 / = 50 /  
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3. DIJAGRAMI M, N, V,  i  

V 

w 
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- GSN 

4. RIGLA 

4.1.1.  = 0  , , = 424,24  , = 0 

4.1.2.  

 

4.1.3.  

    
  

 = 134  
  = 67120  

   = 2668  
 , = 2787  

   , = 401  
 , = 2440  

   W , = 254  
  = 550  

    = 210  
  = 11,1  
  = 17,2  

  = 24  

w

r

y y


